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should be rejected. (See discussion of construction, in éxegésis.)

Wt » Rand B read Efr_ro?\gl/l/»ta . Other mss. follow the IXX in
substituting KC!T(X;{H/’J/W( . Transcriptional probability is against
conformity to the ILXX, Another case where the Neutral, thought
slightly supported by other mss. commends itself as the best,

v.28.,Western and Syrian authorities insert five words which
mand B and a few other manuscripts omit. These words conform
the passage to the LXX, .'but on another plea of transcriptional
probability, Alford urges their retention., . Intrinsic probability
favors their excision (details of this latter are given in the
discussion of the exegesis, below).,

v.31.The original writing of®, B,D, and G, all supvort the
omission of&ﬁo{{oﬁﬂ;ﬁafter the second/ouov . Some commentators
plead for it, in the interest of their theories of exegesis. (See in loc.)

v.32.llany mss, addr?’«pu after?o‘é/ldy sy but we follow /\b‘:B, and
G in omﬁfitting{it.

v.32.(2).It is best to follow -r\w,B,ZD

o
af ter ﬁ/aa‘gko;/’dl(
- ~ N _
v.33, MAS after the secondKAl seems to have crept in from 10:11,

\
‘,a.nd G, in omittinchﬁp

and we do well to followﬁ,B,D,and Gy in omitting it.

v.33.(2) Only D and G substitute aé/n} kxmaioynbysor 00
Ko(]‘o{(()*/ﬂ/l/gy{?870f{ ’ conforming it to the LXX, They are hardly
to be followed here,
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